FERAT4ERE

INIFE | =
o5 2 [NIIE; I E B2l
(s | B/R A
—#R1ER
Xz | SUECC) | KiE(°C) | HEUKE i =i BR
48] Bh 19.5 17.2 == BE me mR
68|l Bh 31.0 22.8 =IE BE i) mR
8A| W 34.0 27.0 =IE BE me mR
10H [55] 21.0 21.1 xE BE piiid ) piig=|
128 =l 7.0 7.0 == B meE |
28| m 95 8.2 =E B e me
4 ERSEE 3
oH DO BOD SS KEFEHK
(mg/) (mg/1) (mg/l) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20U | 25LLF | 1000LLF
EHE(75%1E) - 10 0.9(1.0) 1 =
48] 380 10 13 2 -
64 8.2 9.5 1.0 1 —
8A|l 85 8.3 0.8 <1 -
10A] 79 9.1 0.7 <1 -
12A8] 78 13 0.9 <1 -
2A] 716 11 <05 2 -
BEEE
LN INES S oy ANEIOL | MFE BiKE |[7FILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E] 001LATF | JE#H | 001LLF | 0.05LLF | 0.01LLF | 0.0005LLF
EiH{E - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
10| - - - - - - -
12A] - - - - - - -
28— - - - - - -
ooandl ..o .= [1,2->700[1,1->saa|YA-1,2->-0a[1,1,1-r)50
PCB 5 bR A E 3 T TFLY NIFLo nTAs
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#fE] JERH 00200 0.002LLF | 0.004LLF | 0.02LLF | 0.04LLF 1LUF
iy - - - - - - -
agl - - - - - - -
;] - - - - - -
8Al - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
28— - - - - - -
1,1,2-ky4 [RUo0A(Fr54500x(1,3->9an = S mpate FARA
pRIgY | TFLY | FLv Jaxy | T4 b LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 #{E]10.006 L[ 0.03LLF | 0.01LLF [ 0.002LLF 10.006LLF| 0.003LLF 0.02LLF
Ty - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8A| - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~EH \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.69 0.039 - - - -
4R - 0.65 0.017 - - - -
64 - - - - - - -
sA| - 0.39 0.033 - - - -
108 - 0.71 0.026 - - - -
12H - - - - - - -
28 - 1.0 0.078 - - - -
BiLH HHHERYE | VU : e i s
IT/=| xS cobD g > AR BREER
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) () (4 S/cm)
F{E - - 2.1 = = - -
4A[ - - 1.2 - - - -
68 - - 15 - - - -
sA| - - 1.6 - - - -
10R] - - 1.5 - - - -
128 - - 1.1 - - - -
2H - - 5.8 - - - -




ERRITEE

FE | im =
2 % I\ &% S lE =531
(@B ) | B|E A
—{RIE R
X&_|&fECC)| KECC) | E#BUKZE | FiiR 18 BS
48| ®Bh 20.0 17.5 =IE BE g mR
68| Bh 30.0 235 == BE |me |
s8A| B 34.0 27.0 =E BE g mR
108 551 21.0 21.2 =RIE BE i) mR
128 =l 7.2 7.4 == BE |me |
28 551 10.0 8.5 == BE BE |ma
4ERBEE 3
oH DO BOD SS KEEHK
(mg/1) (mg/) (mg/1) _| (MPN/100ml)
EE(E] 65~85] 75LLF | 20 | 25LLF | 1000LLF
EHE(75%1E) - 10 1.1(1.3) 4 =
48] 79 10 20 3 -
68| 85 10 1.1 2 -
8A 8.7 8.7 0.7 2 —
10A] 7.9 9.2 1.3 9 -
128] 78 13 0.9 1 -
28] 76 10 0.6 4 -
BEEE
NI INESDS & 0 ANEvaL | HME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#ZE] 001 LLF [ & | 001LLTF | 005LLF [001LLF | 0.0005LLF e
BEZS - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
10| - - - - - - -
12A] - - - - - - -
28] - - - - - -
Sooox we |12-2900(1,1-S50n(22-1,2-040(1,1,1-k)50
PCB "7, ~| BEERR | " 1oy | 'zFLy | mrFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE] EH [002LLTF | 0.002LLF | 0.004LLTF [0.02LLF | 0.04LLF 1LF
EHE - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
28] - - - - - -
1,1,2-ky4 |[Ro0A(Fr54900I(1,3->9an = S mpate FARAH
aaIsy | TFLY FLY Faxy F I3, Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E]0.006LLF[0.03LLF| 0.01LLF [ 0.002ELF [0.006 LA F| 0.003LLF | 0.02LLF
EEZS - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8A| - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




Ry | vy |HEEZERY) so% | 5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
4H - - - - -
6H - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2R - - - - -
EDHIEE
N— A~ N RILLT L
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 0.79 0.058 = = = =
4R - 0.73 0.033 - - - -
6H - - - - - - -
8A - 0.41 0.033 - - - -
10H - 0.80 0.037 - - - -
12H - - - - - - -
28 - 1.2 0.13 — - -
BiLH HHERYE | VU ; = i S
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
F{E - - 3.3 = = - -
4R - - 2.3 - - - -
64 - - 2.3 - - - -
8A - - 2.2 - - - -
10A| - - 4.0 - - - -
128 - - 1.3 - - - -
28] - - 77 - - - -




ERRITEE

E2FE | A4 &)
th A
(@B ) | BB A
—§%IE B
X&_|&SECC)| KECC) | HEBUKE | FiR 18 BS
48] Bh 19.5 17.2 == BE me mR
68| ®Bh 31.0 22.2 =IE BE i) mR
s8A| m® 34.0 27.1 =IE BE me mR
108 55 21.0 21.2 =IE BE me mR
128 =l 7.4 8.2 == B meE |
28 551 10.0 8.5 == BE BE |ma
4ERBEE 3
oH DO BOD SS KEEHK
(mg/1) (mg/) (mg/1) _| (MPN/100ml)
B E(E] 65~85] 75LLF | 20 | 25LLF | 1000LLF
EHE(75%1E) - 9.2 1.3(1.6) 3 =
48] 81 98 16 3 -
6H| 80 9.0 1.2 1 —
8A| 81 7.8 0.9 2 -
10A] 79 9.2 2.0 6 -
128 79 11 1.5 1 -
28 7.7 8.4 0.8 2 -
BFEER
NI INED & A ANEvaL | HME fKER 7L ILKEE]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE 001 UF | FEBH | 001LF [ 0058F [0.01LLF | 0.0005LLF e
E{E - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
10| - - - - - - -
12A] - - - - - - -
28] - - - - - -
S II=E. we |12-2900(1,1-S500(22Z-1,2-040(1,1,1-k)50
PCB "7, ~| BEERR |\ " 1oy | 'zFLy | mIFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE] EH [002LLTF | 000280 F | 0.004LLTF [0.02LLF | 0.04LLF 1LF
E{E - - - - - - -
agl - - - - - - -
;] - - - - - -
8Al - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
2A] - - - - - -
1,1,2-ky4 |[RUo0A(Fr5500I(1,3->9an = S mpate FARA
aaIsy | TFLY FLY Faxy F I3, Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#{E]0.006LLF[0.03LLF| 0.01LLF [ 0.002ELF [0.006 LA F| 0.003LLF | 0.02LLF
E{E - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8A| - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
g EER e 2 2HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 1.6 0.089 = = = =
4R - 1.6 0.031 - - - -
64 - - - - - - -
sA| - 1.0 0.055 - - - -
108 - 1.8 0.081 - - - -
12H - - - - - - -
28 - 2.0 0.19 - - - -
BiLH HHERYE | VB : e i s
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
F{E - - 6.0 = = - -
48] - - 2.9 - - - -
68 - - 3.5 - - - -
8H - - 3.5 - - - -
10A| - - 538 - - - -
12A| - - 33 - - - -
2H - - 17 - - - -




ERRITEE

5 E%%H% A4 =6l
(BER) | #® A
—iR1ER
Xz | SUECC) | KiE(°C) | HEUKE iR =i BR
48] Bh 19.0 17.9 == BE me mR
68l Bh 305 24.0 =E [FEYPEZY me mR
s8A| m® 33.0 29.0 =IE mED me mR
108 55 21.0 21.6 =IE KEZL mae mR
128l =Y 7.5 75 == BE ) mE
28 5 10.0 8.5 == BE ) M
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
RElE| 6.5~85 ] 715LLE 2000F [ 25BLF | 1000ELF
EHIE (75%1E) - 9.7 1.0(1.2) 3 6700
48] 79 10 13 2 -
6A|l 79 8.4 0.9 6 -
8A| 86 8.8 1.0 2 2400
10A] 79 8.9 1.0 3 -
128 79 12 1.2 <1 -
2A] 716 10 0.6 4 11000
BEEE
N INESS & ) NS ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | JE4H | 0.01LLF | 0.058LF | 0.01ELF | 0.0005ELF JERH
B3] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A - - - - - - -
8A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 - - - - - - -
28] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
S II=E we |12-2900(11-S900(22-1,2-040(1,1,1-k)50
PCB "7, ~| MEERR |\ 1oy | 'zFLy | mrFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] JERE 00280 F ] 0.002LLF | 0.004LLF | 0.02ELF | 0.04LLF 1LF
1 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
48 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
6A - - - - - - -
8H - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
104 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
12A] - - - - - - -
28 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
1,1,2-;y4 MY AaAFrS200x|1,3-o49Aan — . o sed FARH
anzsy | TFLY | FLv gy | T7IA | YIDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 {E]0.006 L[ 0.03LLF | 0.01LLF | 0.002LLF [0.006 L F| 0.003LLF 0.02LLF
EfE[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A - - - - - - -
8Bl <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
10A8]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A] - - - - - - -
28] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#({E] 001LLTF [0.01LLF| 10LTF 0.8LLF 1LF
E{E] <0.001 [ <0.001 0.61 <0.1 <0.1
48] <0.001 [ <0.001 0.73 <0.1 <0.1
68 - - - - -
8A| <o0.001 | <0.001 0.21 <0.1 <0.1
108] <0.001 | <0.001 0.64 <0.1 <0.1
128 - - - - -
28] <0.001 | <0.001 0.84 <0.1 <0.1
ZTO#IER
N SR | 28 @ | 2E® | saofus [T
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.83 0.056 - <0.005 - -
48 - 0.80 0.023 - - - -
68 - - - - - - -
8H - 0.42 0.040 - <0.005 - -
10H - 0.80 0.040 - - - -
128 - - - - - - -
2H - 1.3 0.12 - - - -
Eie HmIHERE | VR . .
7z/—n| ZXD | cop S Iy )i 4 ESiEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - - 2.9 0.18 - - 150
48 - - 1.7 0.05 — - 130
68 - - 2.3 - - - 170
8H - - 2.6 <0.01 — — 160
108 - - 2.9 0.64 - - 140
128 - - 1.4 - - - 150
2H = — 6.2 <0.01 — — 160




ERRITEE

BB | AINA =l
ih 4
(s | B/R A
—{%IE B
X |[KEBECc)| KEBCCc) | HMBUKE [ FiR 48 B&
48] Bh 18.5 18.7 == BE me mR
68| ®Bh 29.0 24.1 =IE BE me mR
8A| Bh 33.0 29.0 == BE |meE |
108 55 21.0 21.8 =IE BE me |mR
128 =Y 8.0 9.7 == BE meE |
28 5] 10.0 9.1 RE BE ) wmR
4ERIBER 3
oH DO BOD SS KEEHK
(mg/) (mg/) (mg/l) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20 | 25LLF | 1000LLF
EHE(75%1E) - 9.2 1.2(1.5) 5 =
48] 78 10 13 3 -
64 7.9 9.1 1.6 5 -
8H| so0 8.4 1.0 2 -
10A| 78 8.8 1.0 6 -
128] 78 11 15 4 -
28 75 7.9 0.8 8 -
BFEER
NI INED & A ANEoOL | BEE fKER 7L ILKEE]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] 001 LT | JE#RHE | 0.01LLF [ 0.05LLF [0.01LLF [ 0.0005ELF e
B {E - - - - - - -
afq - - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -
S II=E we |12-2900(11-S900(2Z-1,2-40(1,1,1-k)50
PCB "7, ~| BEERR |\ " 1oy | 'zFLy | mIFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] ERH 100280 TF ] 0.002LLF | 0.004LLF | 002LLF [ 0.04LLF 1LUF
EH{E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2R - - - - - - -
1,1,2-ky4 [RUo0A(Fr54500I(1,3->9an = Smpate FARA
aaIsy | TFLY FLY Faxy F I3, Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L[ 0.03LLF | 0.01LLF | 0.002LLF [0.006LLF| 0.003LLF [ 0.02LLF
I {E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~%4 \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 1.2 0.12 = = = =
4R - 1.1 0.037 - - - -
64 - - - - - - -
sA| - 0.87 0.086 - - - -
108 - 1.1 0.090 - - - -
12H - - - - - - -
28 - 1.9 0.26 - - - -
BiLH WIHERTE (B : e i s
IT/=| xS coD el > AE EXizE=
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
TEE - - 50 - - - -
4A[ - - 2.3 - - - -
6B - - 30 - - - -
8H - - 2.7 - - - -
10A| - - 37 - - - -
12A| - - 23 - - - -
24 - - 16 - - - -




